2009年12月5日 RELEVANLE VECTOR MACHINES RVMS 下午 03:49

## Matrix Identics

$$(C,7) (A+BD^{T}C)^{T} = A^{-1} - A^{T}B(D+CA^{-1}B)^{T}CA^{-1}$$

$$(C,14) |I_{N}+AB^{T}| = |I_{M}+A^{T}B|$$

$$(C,15) |I_{N}+ab^{T}| = 1 + a^{T}b$$
Gaussian Identies
$$\{(2,113) \quad p(x) = N(x | M, \Lambda^{-1})$$

$$(2,114) \quad p(y|x) = N(y | Ax+b, L^{-1})$$

$$(2,115) \quad p(y) = N(y | A\mu+b, L^{-1} + A\Lambda^{-1}A^{T})$$

$$(2,116) \quad p(x | y) = N(x | \Sigma \{A^{T}L(y-b) + \Lambda\mu\}, \Sigma)$$

$$\overline{\Sigma} = (\Lambda + A^{T}LA)^{-1}$$

Limitations of SVMs

- posterior probilities?
- ② two-cluss ⇒ multi-class
- 3 C, v, E parameter selection by cross-validation
- () positive definite kernels .

## RVM for regression

t: real-valued target value  
X: input vector  
Gaussian Noise: 
$$p(t|X, w, \beta) = N(t|y(x), \beta^{-1})$$
  
U  
y(X) =  $\sum_{c=1}^{m} w_c \phi_c(X) = w^T \phi(X)$   
Mean noise precision

2009#12959  
TF 04:02 for RVMS. We assume the following model  

$$y(x) = \sum_{n=1}^{N} w_n k(x, x_n) + b$$

$$w_n k(x, x_n) + b$$

$$w_n$$

 $\sum_{\substack{r \neq 0.12}} \sum_{\substack{r \neq 0.12}} from the likelihood and the prior$ we can write the posterior as $<math display="block">p(w | t, \overline{X}, \alpha, \beta) = N(w | m, \overline{\Sigma})$ where  $m = \overline{\Sigma} [\overline{\Phi}^T \beta t]$  $\sum_{\substack{r = (A + \beta \overline{\Phi}^T \overline{\Phi})^{-1}} A = drag(\alpha)$ this is obtained by applying (2.113)+(2.114)  $\rightarrow$  (2.1(6) to as (2.113)  $\Rightarrow P(w | d) = \prod_{\substack{r = 1 \\ c = 1}} N(w | o, \alpha_{c})$ (2.14)  $\begin{cases} as (2.113) \Rightarrow P(w | d) = \prod_{\substack{r = 1 \\ c = 1}} N(w | o, \alpha_{c}) \\\\as (2.114) \Rightarrow P(t | \overline{X}, w, \beta) = \prod_{\substack{n = 1 \\ n = 1}} N(w^T \phi(x_n), \beta^{-1}) \\\\y(x_n) \end{cases}$ (Note that  $\overline{\Phi} = k$  for RVM) The optimal weights  $W^{\overline{T}}$  is given by the mean of the posterior  $w^{\overline{T}} = Im = \beta \overline{\Sigma} \overline{\Phi}^{T} t$ 

The next step is to decide the hyperparameters &, B.

We use "evidence approximation".

EA O Compute the marginal likelihood

 $p(t \mid X, \alpha, \beta) = \int p(t \mid X, w, \beta) p(w \mid \alpha) dw$  $= \int p(t, w \mid X, \alpha, \beta) dw$ 

$$p(t|X, W, \beta) \text{ and } p(W, \alpha) \text{ are Gaussians}$$

$$\stackrel{2009 \pm 12 \beta 5 \exists}{}^{\text{T} \pm 04:23} \text{ Again, we don't need to do the integration explicitly for marginalization.}$$

$$Just by observing and applying (2.113)t(2.114) \rightarrow (2.115)$$
we get
$$p(t|X, \alpha, \beta) = \int p(t|X, W, \beta) p(W|\alpha) dW$$

$$= N(t|0, C)$$

$$C = \beta^{-1}I + \xi A^{-1} \xi^{T} \quad \text{Aediag}(d_{2})$$

EA @ maximize the logarithm of the marginal likelihood wir.t. & and B

$$ln p(t|X, \alpha, \beta) = ln N(t|0, C)$$
$$= -\frac{1}{2} \left\{ N ln(2\pi) + ln |C| + t^{T}C^{T}t \right\}$$

It takes a comple of pages to write down the derivations. For now we write the results only, and go into the details later.

take the derivatives and set them to zero, we get

$$\alpha_{i}^{\text{new}} = \frac{\gamma_{i}}{m_{i}^{2}}$$

$$\left(\beta^{\text{new}}\right)^{-1} = \frac{|| + -\overline{\Phi}m||^{2}}{N - \Sigma_{i} + \gamma_{i}} \qquad \qquad \gamma_{i} = |-\alpha_{i} \sum_{i} \gamma_{i}|$$

SLT09 Week 13 第 3 頁

$$\begin{aligned} \sum_{T=0,4:13}^{2009\pm12\beta10H} \sum_{T=0,4:13}^{T=0,4:13} k_{n} p(\cdot t_{n} | \overline{X}, d_{n} \beta) &= -\frac{1}{2} \left\{ N k_{n} (2\pi) + k_{n} | C| + \cdot t_{n}^{T} C^{-1} + \right\} \\ &= \frac{1}{2d_{c}} \left\{ k_{n} p(\cdot t_{n} | \overline{X}, d_{n} \beta) &= \frac{3 k_{n} | C|}{3 \alpha_{c}^{c}} + \cdot t_{n}^{T} \frac{3 C^{-1}}{3 \alpha_{c}^{c}} + t_{n}^{T} \right\} \\ &= k_{n} \beta^{-N} | I + \beta \Phi A^{T} \Phi^{T} | \\ &= N k_{n} \beta + k_{n} | I + \beta \Phi^{-1} \Phi^{T} \Phi^{T} | \\ &= -N k_{n} \beta + k_{n} | I + \beta A^{T} \Phi^{T} \Phi^{T} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | A + \beta \Phi^{T} \Phi^{T} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} \beta - k_{n} | Z^{-1} | \\ &= -N k_{n} | A| + k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} | A| + k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} | A| + k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} | A| + k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} | A| + k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} | A| + k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} | A| + k_{n} | A| + k_{n} | Z^{-1} | \\ &= -N k_{n} | A| + k_{n} | A| + k_{n} | Z^{-1} |$$

combine the results of  $\mathcal{D}$  and  $\mathcal{D}$  $\frac{\partial \ln \mathcal{P}(\mathcal{T} \mid \mathbb{X}, \mathcal{A}, \beta)}{\partial \mathcal{A}_{i}} = \frac{1}{2\mathcal{A}_{i}} - \frac{1}{2} \overline{Z}_{ii} - \frac{1}{2} m_{i}^{2}$ 

Set the derivative to zero

$$d_i = \frac{1 - d_i Z_{ii}}{m_i^2}$$

 $\alpha^*$  The update rule  $\alpha_i^{\text{new}} =$ 

$$\frac{\gamma_{i}}{m_{i}^{z}} \qquad \gamma_{i} = 1 - \alpha_{i}^{\text{old}} \Sigma_{ii}$$

2009#12F10B  
TF 0506  
We also need to compute the derivatives  
w.r.t. B  
Again 
$$l_{n} p(t | \overline{X}, d, \beta) = -\frac{l}{2} \left\{ N l_{n} (2\pi) + l_{n} |C| + t^{T}C^{-1}t \right\}$$
  
 $\frac{\partial}{\partial \beta} l_{n} p(t | \overline{X}, d, \beta) = -\frac{l}{2} \int \frac{\partial}{\partial \beta} l_{n} |C| + t^{T}C^{-1}t \right\}$   
 $\frac{\partial}{\partial \beta} l_{n} p(t | \overline{X}, d, \beta) = -\frac{l}{2} \int \frac{\partial}{\partial \beta} l_{n} |C| + t^{T}C^{-1}t \right)$   
 $p$  recall  $l_{n} |C| = -N l_{n} \beta - l_{n} |A| + l_{n} |\overline{\Sigma}^{-1}|$   
 $\frac{\partial}{\partial \beta} l_{n} |C| = -N l_{n} \beta - l_{n} |A| + l_{n} |\overline{\Sigma}^{-1}|$   
 $\frac{\partial}{\partial \beta} l_{n} |C| = -\frac{N}{\beta} + \frac{\partial}{\partial \beta} l_{n} |\overline{\Sigma}^{-1}|$   
 $\frac{\partial}{\partial \beta} l_{n} |C| = -\frac{N}{\beta} t_{n} |\overline{\Sigma}^{-1}| \qquad |A| + l_{n} |\overline{\Sigma}^{-1}|$   
 $\frac{\partial}{\partial \beta} l_{n} |C| = -\frac{N}{\beta} t_{n} |\overline{\Sigma}^{-1}| = T_{r} (\overline{\Sigma} \frac{\partial \overline{\Sigma}^{-1}}{\partial \beta})$   
 $recall w pateur
 $(c.zz) = T_{r} (\overline{\Sigma} \overline{P}^{T} \overline{P})$   
 $= T_{r} (\overline{\Sigma} \overline{P}^{T} \overline{P} + \beta^{-1} \overline{Z} A - \beta^{-1} \overline{Z} A)$   
 $= T_{r} (\overline{\Sigma} \overline{P}^{T} \overline{P} + \beta) \beta^{-1} - \beta^{-1} \overline{Z} A)$   
 $= T_{r} {\overline{\Sigma} (\overline{P}^{T} \overline{P} \overline{P} + \beta) \beta^{-1} - \beta^{-1} \overline{Z} A}$   
 $= T_{r} {\overline{\Sigma} (\overline{P}^{T} \overline{P} \overline{P} + \beta) \beta^{-1} - \beta^{-1} \overline{Z} A}$   
 $= T_{r} {\overline{\Sigma} (\overline{P}^{T} \overline{P} \overline{P} + \beta) \beta^{-1} - \beta^{-1} \overline{Z} A}$   
 $= T_{r} {\overline{\Sigma} (\overline{P}^{T} \overline{P} \overline{P} + \beta) \beta^{-1} - \beta^{-1} \overline{Z} A}$   
 $= T_{r} {\overline{P} (1 - A\Sigma) \beta^{-1} }$   
 $\frac{\partial l_{n} |C|}{\partial \beta^{-1}} = -\frac{N}{\beta} + \frac{1}{\beta} \overline{T}_{r} {\overline{T} (1 - A\Sigma)} \int {\overline{Y}_{i} = 1 - d_{i} \overline{Z}_{ii}}$$ 

2009年12月10日 下午 07:13

(2) 
$$\frac{\partial t^{T} C^{-1} t}{\partial \beta}$$
 [using previous results  

$$= \frac{\partial}{\partial \beta} f t^{T} \beta (I - \beta \overline{\Phi} \Sigma \overline{\Phi}^{T}) t$$

$$= \frac{\partial}{\partial \beta} \{ \beta t^{T} t - \beta^{2} t \overline{\Phi} \Sigma \overline{\Phi}^{T} t \}$$

$$= t^{T} t - 2\beta t \overline{\Phi} \Sigma \overline{\Phi}^{T} t + \beta^{2} t \overline{\Phi} \Sigma \overline{\Phi}^{T} \overline{\Phi} \Sigma \overline{\Phi}^{T} t$$

$$= \| t - \overline{\Phi} m \|^{2}$$

$$\| m = \beta \Sigma \overline{\Phi}^{T} t \| = -\Sigma \overline{\Phi}^{T} \overline{\Phi} \Sigma \overline{\Phi}^{T} \Sigma$$

$$= -\Sigma \overline{\Phi}^{T} \overline{\Phi} \Sigma$$

$$= \frac{\partial}{\partial \beta} \ln \rho(t | \overline{X}, \alpha, \beta)$$

$$= \frac{1}{2} \frac{N}{\beta} - \frac{1}{2} \frac{1}{\beta} \sum_{i=1}^{N} Y_{i} - \frac{1}{2} \| t - \overline{\Phi} m \|^{2} = 0$$

the update rule

$$\beta^{*} \qquad \frac{i}{\beta^{new}} = \frac{\left\| t - \underline{\Phi} \right\|^{2}}{N - \sum_{i=1}^{N} \gamma_{i}} \qquad \gamma_{i} = 1 - d_{i} \Sigma_{i}$$

SLT09 Week 13 第 9 頁